


Given below is a word, followed by three sentences that consist of that 

word. Identify the sentence(s) that express(es) the meaning of the word.



PORE

A. I pored the water all over the plants.

B. My brother has skin problems because of his clogged pores.

C. The class pored over the museum's exhibit.

1. Only A

2. Only B

3. Only C

4. Both A and B

5. Both B and C

•As a noun, a pore refers to a very small opening in 

the skin.

• Example: I have oily pores on my face.

•When pore is a verb, it means to study or look at 

something very intently.

• Example: I pored over all of my textbooks 

while studying last night.



In the following sentence, four words or phrases have been printed in 

bold. One bold part in the sentence is not acceptable in Standard 

English. Pick up that part and mark its number. If there are no errors in 

the bold parts, mark (5) i.e. No error as the answer.



Providing fresh hopes (A)/ to ginger farmers in South India, the prize 

(B)/ of ginger rhizomes has been spiraling (C)/ on account of scant 

supply and huge demand. (D)/ No error (E)

1. Hopes

2. Prize

3. Spiralling

4. Demand

5. No error

Solution : Option 2



In the following sentence, five words are given in bold, out of which one 

word is misspelled. Find the misspelled word.



The stratagic(A) dimensions of Indo-Vietnamese relations, initiated(B) 

during the 1980s, began unfolding in the form of structured(C) and 

institutional(D) arrangements(E) during the 1990s.

1. A

2. B

3. C

4. D

5. E

Solution : Option 1 The correct spelling is 'Strategic' means 

Relating to the identification of long-term or overall aims and 

interests and the means of achieving them.

'Initiated’ - means To start something.

'Structured’ - To arrange something in an organized way.

'Institutional’ - Expressed through or organized in the form of 

institutions.

'Arrangements’ -The action, process, or result of arranging or 

being arranged.



The Hispanics(A) had hoped for solid movemant(B) on the all-

important issue(C) of immigration(D) which has turned out to be a 

huge disappointment(E).

1. A

2. B

3. C

4. D

5. E

Solution : Option 2 The correct spelling is 'Movement' means 

A group of people working together to advance their shared 

political, social, or artistic ideas.

Hispanics'  - Spanish-speaking people

'Issue’- An important topic or problem for debate or 

discussion.

'Immigration’ - The action of coming to live permanently in a 

foreign country.

'Disappointment’ - Sadness or displeasure caused by the non-

fulfillment of one's hopes or expectations.



By the end of 1995, this had matured(A) into a full-dialogue 

partnarship(B) and in 1996, India joined the security(C) dialogue 

platform(D), the ASEAN Regional Forum(E).

1. A

2. B

3. C

4. D

5. E

Solution : Option 2 The correct spelling is 'Partnership' means 

An association of two or more people as partners.

'Matured’ - To become fully grown or developed.

'Security’ - The state of being free from danger or threat.

'Platform’ - The declared policy of a political party or group.

'Forum’ - A meeting or medium where ideas and views on a 

particular issue can be exchanged.



Its priority(A) programs include building massive(B) physical 

infrastructure(C) that only disrupts(D) the natural infrastructure we 

desparately(E) need to protect.

1. A

2. B

3. C

4. D

5. E

Solution : Option 5 The correct spelling is 'Desperately' means 

In a way that emphasizes the extreme degree of something.

'Priority’ - The fact or condition of being regarded or treated 

as more important than others.

'Massive’ - Exceptionally large.

'Infrastructure’ - The basic systems and services that are 

necessary for a country or an organization.

'Disrupts’ - To interrupt an event, activity, or process by 

causing a disturbance or problem.



Fill in the blanks in the passage below, with the word from among the 

options given for each blank labelled (1) to (6). Choose the word that fits 

in each blank most appropriately in the context of the passage.



Aside from the nuance of the screen, stage, method, and technical acting, there 

are also ___(1)___ types of actors and what they do on stage or on cam. An 

actor may be known to stick to a role that’s similar to all his other previous roles 

or he may be known to be ___(2)___. Each actor has a distinctive style of his 

own that the director makes use of to ___(3)___ the quality of his play or film.

Personality actors are actors who take their persona with them from role to role. 

Personality actors make use of their own ___(4)___ in playing the role instead 

of learning about the character he is playing. As a result, reading the actors’ 

names alone can tell the audience what to expect in a film since personality 

actors rarely stray from their usual roles.



A character actor is the exact opposite of a personality actor. Character 

actors ___(5)___ their roles and detach themselves from their 

characters. They do not allow their own personality to come to the 

surface as this will make them break character.

Chameleon actors are like an upgraded version of character actors. 

Chameleon actors can play a variety of ___(6)___ roles. They are 

known to be versatile and can successfully take on any personality and 

even change their external features for a role.



Aside from the nuance of the screen, stage, method, and technical 

acting, there are also ___(1)___ types of actors and what they do on 

stage or on cam. 

Select The most appropriate option to fill in blank number 1.

1. Ordinary

2. Usual

3. Conventional

4. Different

5. Generic



An actor may be known to stick to a role that’s similar to all his 

other previous roles or he may be known to be ___(2)___. 

Select The most appropriate option to fill in blank number 2.

1. Inept

2. Absurd

3. Dull

4. Limited

5. Versatile



Each actor has a distinctive style of his own that the director makes 

use of to ___(3)___ the quality of his play or film.

Select The most appropriate option to fill in blank number 3.

1. Enhance

2. Undermine

3. Denounce

4. Revile

5. Debase



Personality actors are actors who take their persona with them from 

role to role. Personality actors make use of their own ___(4)___ in 

playing the role instead of learning about the character he is playing. 

Select The most appropriate option to fill in blank number 4.

1. Temper

2. Personality

3. Emotion

4. Aura

5. Quality



A character actor is the exact opposite of a personality actor. 

Character actors ___(5)___ their roles and detach themselves from 

their characters. 

Select The most appropriate option to fill in blank number 5.

1. Ignore

2. Neglect

3. Research

4. Investigate

5. Condemn



Chameleon actors are like an upgraded version of character actors. 

Chameleon actors can play a variety of ___(6)___ roles. 

Select The most appropriate option to fill in blank number 6.

1. Matching

2. Attendant

3. Concurrent

4. Unrelated

5. Parallel



Which of the phrases given in the options should replace the word 

phrase that is underlined in the sentence to make it grammatically 

correct? If the sentence is correct as it is and no correction is required, 

select 'No correction required' as the answer.



She told me that all her papers were ready and she should leave for 

Canada next month.

1. Will leave

2. Shall leave

3. Could leave

4. Would leave

5. No correction required



The future of the company is at stake as the present CEO of the 

company neither is honest nor tactful.

1. Either is

2. Is neither

3. Is either

4. Is only

5. No correction required



Although he is my subordinate, he is more senior than me in 

service.

1. To me

2. Then me

3. As me

4. Like me

5. No correction required



She is more witty than her sister.

1. Wittiest than

2. More witty then

3. Most witty than

4. Wittier than

5. No correction required



To be successful, you must understand why your failure in the past 

and take steps to prevent it from happening again.

1. Why had you failed

2. Because you have failed

3. Why you had failed

4. That your failure

5. No correction required



The question below contains five scattered segments of a sentence. 

Indicate the sequence which correctly assembles the segments and 

completes the sentence.



A. project in Oman

B. commission a solar photovoltaic 

C. Sterling and Wilson Solar Limited

D. first Indian company to

E. has become the  

1. ABCDE

2. EDCBA

3. BCDAE

4. CBAED

5. CEDBA



A. by the end of this century

B. contributing up to

C. Greenland may lose

D. 13 inches of sea level rise

E. 4.5 per cent of its ice

1. ABCDE

2. DEABC

3. CEABD

4. EDCBA

5. DCBAE



A) and which were not

B) children nowadays do not

C) which are open to them 

D) available to their parents

E) appreciate the opportunities

1. EDACB

2. CBEDA

3. BECAD

4. EDABC

5. ABECD



A. of the migrant workers

B. are still searching

C. for work

D. more than one-fourth

E. in villages

1. DABCE

2. ECABD

3. CEDBA

4. ABCDE

5. EDCBA



A. global warming is the term

B. gradual increase in the

C. average temperature of the

D. used to describe a

E. Earth's atmosphere and its oceans

1. ADBCE

2. EDCBA

3. ABCDE

4. BCDAE

5. CABDE



THANK YOU


